Pre-Calculus Review Problems Chap. 4 NAME: KE.
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2. Given f(x) = x2 + 6x + 9, find the following:
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4. Use transformatlons of f(x)=x?tograp the Verfgx form of #3. Show at Ieast 5 points.
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5. A suspension bridge has twin towers that extend 150 meters above the road surface
and are 600 meters apart. The cables are parabolic in shape and are suspended
from the top of the towers. The cables touch the road surface at the center ofthe
bridge. Y= e X~ ) + P
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a. Find the equation of the parabol e cables
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b. Find t 3 the cabtesatapoirnt 200 meters from the center.
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6. Cruella deVil with 4000 meters of fencing needs to fence a rectangular piece of land
for her stolen puppies. She is going to use the side of a barn for 1 side.
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7. Write the equation of a line in vertex form that has a vertex of (- 3 2) and passes
through the point (-4,6). =4 (x-h)*rk hle
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8. Solve the inequality 3X 4)6 + 5 Write ygﬁlr answer in mterval notation.
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9. The price p (in dollars) and the quantity x sold of rubix cubes obey the demand (‘?sv sazsa)
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¢.) What quantity x maximizes revenue? What i Is the maximum revenue? 4 s,z
d.) What prl should the compafy {5 Maximize revenue? s©
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